X(F,U) = X5(F) ~%5(V)

Munsell (Renotation)Buntheit C = 2 und Helligkeit (Value)V = 1,5 und 9 Munsell (RenotationjBuntheit C = 2 und Hengke\l (Value)V=1,5 und 9
in Farbartdiagramm (x,(F,U), y,(F,U)) Xog=1.0, Y5071 in Buntheitsdiagramm (x*, (F,U), y% (F, X3071.0,Y551.0
Yo(F.U) =Y5(F)-y,(U) X70.0,8:=1.0 V5(F.U) =y () ~(U))] = oy yz(F,U) xc=0-OYBc—1-0vw—0‘91V““1
x=[0,9093-0,0138,+0,3338,)/ Xo = Yo (X—Xo) %=[0,9093-0,0138,+0,3338p,/ Xo = X0 (X=Xc)
itz r-0 im0 7500 2 b0 a0 750 sa=ant
’ e 0l ’ e X*2 = Oy Xp0(X%o)

¥*2= 6 Y20
X%(F,U) =cy X,(F,U)

= ¢y D(F) (V)]

-0,1 0,1 Vxy(F.U) yy(F.U) Vx5o(FU) y5(F.U)
100015 -0.0279 1 00014
2 00008 -0.0158 2 00012
3 0001  -0.0093 3 00017
4 00008 -0.0042 4 00017
01,01 5 00002 -0.001 01,01 5 00005
. 6 00002 00006 ||, _ga13 -0,1 . 6 00007
Xy =0313 7 00001 00019 v =0 7 00005
v 8 00003 0003 yy=0.324 8 00014
yy=0324 8 00006 00041 U= 9 00025
u 00 Y= 25,30 [VIX)
Yy =25.30 ume
Cr=mn Crepn
Munsell (RenotationjBuntheit C = 2 und Helligkeit (Value)V = 1,5 und 9 Munsell (RenotationjBuntheit C = 2 und Helligkeit (Value)V =1, 5 und 9
in Farbartdiagramm (x,(F,U), y,(F,U)) Xog=1.0,y,=1.0 in Buntheitsdiagramm (x*, (F,U), y% (F,U)) Xp=1.0,Y,=1.0
YalF.U) = y,(F)-5(U) %=0.0,B:=0.8 ¥2(FU) =cy 1(F)-(U)] = ¢y Yo(FU)  %=0.0,B,=0.8,y=0,01Y 034
x=[0,9093-0,0138,+0,3338,)/ Xo = Yo (X—Xo) %=(0,9093-0,0138,+0,3338p,/ Xo = X0 (X=Xo)
[2,3587-0,4268,+0,2754,] Y= YooY [2.3587-0,42691,+0,2754p,] Y2 = YooY
Y=1/[2,3587-0,4268,+0,2754,] 4. (0 1 y=1/[2,3587-0,4268,+0,2754,] L. 0 1 _ -
' ; =0y Xp0(X%o)
¥*2= O Y20
x%(F,U) =cy X,(F,U)
Xo(F,U) = X5(F)=X,(U) iv =y [p(F)xp(U)]
0,1 Vxy(F.U) yy(F.U) -0, 1] 01 Vxo(FU) y5(F.U)
100015 -0.0223 100014 -0.0216
2 00008 -0.0127 2 00012 -0017
30001  -0.0075 300017 -0.0129
4 00008 -0.0033 400017  -0.0071
01,01 5 00002 -0.0008 01,01 5 00005 -00021
+-01 . 6 00002 00005 ||, _ga13 -0,1 . 6 00007 00015
Xy =0313 7 00001 00015 v =0 7 00005 00049
v 8 00003 00024 ||y —g324 8 00014 00088
yy=0324 9 00006 0.0033 U= 9 00025 00133
U 00 00 Y= 25,30 [VIX)
Yy =25.30 v
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